
ADDITION 21

Here we are required to find the whole quantity measured by the sum of

3, 6, and 4 farms of 50 A.

.-. the whole quantity = 13 farms of 50 A.
t

I

Exercise 9

1. What quantity is measured by the parts 2 yd., 6 yd.,

and 7 yd. ?

2. What sum of money is equal to 4 five-cent pieces, 9 five-

cent pieces, and 5 five-cent pieces ?

3. How much IS 8 fifty-dollar bills, 4 fifty-dollar bills, and
9 fifty-dollar bills ?

4. I paid out in one day 6 ten-dollar bills, 8 ten-dollar bills,

and 5 ten-dollar bills. How much did I spend altogether ?

5. If I sell two lots, one for 8 units of value, and the other

for 6 units, what do I get for both, the unit of value being f 100 ?

6. A fruit dealer who arranges his apples in piles of 6 for 5

ct. sells 1 pile to each of a company of 4 persons, and 3 piles to

another customer. How much does he sell altogether?

7. A speculator buys 5 farms of 100 A. for $5000, 6 farms

of 100 A. for 17000, and 3 farms of 100 A. for $4000. How
much land did he buy ? If $ 1000 is the unit of value, how many
units did he pay out for all the farms ?

8. What is the quantity denoted by the sum 6, 7, and 5 times

the measuring unit ?

9. 2 in. -f 5 in. -f 4 in. = ? 2 ft. -f- 5 ft. + 4 ft. = ?

10. f3 + f4 + $6 = ? 3 ten-dollar bills + 4 ten-dollar bills

+ 6 ten-dollar bills = ?

11. A horse was bought for 10 ten-dollar bills, and a carriage

for 12 ten-dollar bills. How much was paid for both ?

12. A man paid out at one time 4 five-dollar bills, at another

6 five-dollar bills, and again 3 five-dollar bills. How much did

he pay out altogether ?


